4% TEXERBy§ A HTERHTE

S T S

e AiEL R/ o

& 45 s EXY @‘\%’/\
V%‘F’ ’F/:—é 2
73:5}';” iﬁbﬁ T =4

‘ HRER
o1

R Wiy
H B i i B
rl—kgi%:l , T | EYN > ¥ ___11;\',?%’}}
* B = LRl L I 5
F R 4R

#1

s % S-Sl foF A
LA
%* 2,7 -
wi BT

W
A E Tiia
BT
A &R
Exp # 1 2 *Erp =




~N

AR (MRENA ) A~ TR 4

> fie o o S e R
:’i nE i\ R E ;i };JZA,\
[tz = (l.0) ] +t=z®#=-"2 3
op 2L 4 -—E#2210. ) J-rt-"-2 13-+
1| R E A 4 E700.D[J-+tr BT 3 AL gD
(0.25) [J~+=&7 2 12:5(0)
it a s Oerer (1.0 5 =#0.8) %= 4
i s > 0.0 D5 - 0
lilh'%?\f%“—‘i . R . 2z
3 MQ 5 | (Z—0.18)/0.15: 2 # 7: B % 4rid & fhlkc
MERELE - [0=(L.5-ra)/L.5S1.05 i ¥ 7 36 fi 122
Lo om T ?%_7\ pL
~ CIA%e(a #4r) (1.0) DI % (5 %4 (0.5)
Al =\
S | B3 O D i 200)
o |AEIEAL | CHRL(1.0) 7 200.67) C# 7 (0.33) [J
3 91&;.(0)
- ZEsE w R 6 (&£ (1.0) [J* 200.67) & ¥ (0.33) []
B 245 (0)
BB F
) 1. 7 5
8 | BB at Bt 6 Eiffi)g 0) [J# 20.67) & (0.33) [
i
%% (1.0) (7 2(0.67) & + (0. 33
N R ] 9;(05 ) 7 2(0.67) 0%+ (0.33) OJ
0| SEEIEE s 08 a0 09 0,61 Ds0.33) Dk
U = T
11 E‘%MFU; ) 6 [[J® (1.0) [I° (0.67) [1=(0.33) & (0)
ARG
12 | w33 B ¥ i 8 (& (1.0) [I° (0.67) [1(0.33) & (0)
13 | T 6 44 6 | [(J£(1.0) (% 7 (0.5 [J2(0)
14 | = & #4542 4 |OJ£.0) ¥+ (0.5 [J2(0)
15 | 8242/ 4 | [+ (1.0) [J® (0.67) [](0.33) [1&(0)
YEL TR . . ; .
16 Smp 8 (% (1.0) [I° (0.67) [1(0.33) & (0)
17| B& > yr(&) | 3 |yr /50=1.0
18| Bzt 5 [® (1.0) 7 (0.67) [1=(0.33) [1#&(0)
A B 100 D:3=a kit
B D=30 B4 ¥ EAH  30<D=60 WET 2 A D60 AEN 4 AT ALK -

2




Bt FHER (A D>60 0 kAR IS L EN)

N Ekic L EE

|

~E
2
an

Nk




T~ IRy

i
e
(#2484 %)
¥ ‘
5




